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All answers should be written on the ANSWER SHEET.

G 45
Section A — each question carries 4 marks

1)

2)

3)

4)

5)

6)

7)

8)

K 35 HYIENEEH -

Find the number of positive factors of 35.

3K 35 WYFTA IENELZ A -

Find the sum of all positive factors of 35.

EEIERE R MR 22 > MEHVHEE S/ HE 2 (1+218121+1 HET—4H)
If the sum of two positive integers is 22, how many combinations of these two numbers are there? (1+21
and 21+1 are counted as 1 combination only)

T 1 2 36 5 36 {H B B S MEE Rk B - A 0hE A W EEH 22 18 2
Among the 36 natural numbers from 1 to 36, at least how many numbers have to be picked so that there
must be 2 numbers whose difference is 18?

SR19x20x 21 REL 9 HYERE -
Find the remainder when 19x20x21 is divided by 9.

KELTREHVE -
Find the value of the following expression.
11x34+66x11

AT BT - AR LU ST - (ARSI EIE R _ERFSR)
Fill in “+ ”(s) or “—"(s) in the blanks to make the calculation below valid. (Please write down the
symbols in order on the answer sheet)

HaF ~ R FARSEE 127 KL - EFEHEH CH—FEEERG 7% » BRIz T 16 iL2ig » 555
12 24 KOMEIEAS BT EF - BREFEMAIESRIE S0 20HY 2 & - AR AR 2/ DR R 2

Two brothers have 127 candies. The elder brother gives the younger brother half of his candies. The
younger brother, after eating 16 candies, returns 24 candies to the elder brother. It ends up that the
number of candies of the elder brother is twice of that of the younger brother. How many candies does the
younger brother have in the beginning?

~ HE5E ~
~ End of Section A ~
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All answers should be written on the ANSWER SHEET.

LS S o
Section B — each question carries 5 marks

9) SEREK 6 IRE T 9 LA IE 50 A 0 1 17 LRE0K ~ 18 L85 TN 27 4R4T 4k 8 200 A7 »
AV —SSEDRES VAT ?
5 bags of rice, 6 bags of soybeans and 9 bags of red beans weigh 50 kilograms, while 17 bags of rice, 18
bags of soybean and 27 bags of red beans weigh 200 kilograms. So how many kilograms does 1 bag of
rice weigh?

10) f2sZffsre—EIET T » ARRITIPRIETEZ/DIEK ?

The shaded part is a square. How many centimetres is the perimeter of the largest rectangle?
+«—20cl—»

«—32cm———»

10.1
Figure 10.1

11) /NEHBARR/INEF 25 N ERVERREIE/INE - BgAHT AN HAE/ANEHRATE 3 2N HER 5/ 12 ik (B ]
ANERREUNERBEISYNES o 240N
Ronny runs after Sunny at a speed of 25 km/h. In the beginning, Sunny is 3 km ahead of Ronny. If Ronny
manages to meet Sunny 12 minutes later, how many kilometres does Sunny run each hour?

12) KELNERAVE -
Find the value of the following expression.
317+311+305+...+35+29+23

13) /N~ /NERE A & 95 5% o ZNIHER/INIRUSRERHY 4 152 25 Bk > SRANHAVERS -
The ages of Mickey and Chesney add up to 95. The age of Mickey is 25 more than 4 times that of
Chesney. Find the age of Mickey.

14) —{EE {8 42017 44 FT47 12 FhR > 5K A BT REMEZ A -
A 7-digit number 4201744 1is divisible by 12. Find the sum of possibilities of 4.

15) ARIEE 7% EMHINLE 143 > EFIHITEE 1080 » SKFEI{EE EoRHYEL -
There are two positive integers. Their sum is 143 and their product is 1080. Find the greater number
among these two numbers.

16) 1£ 1 % 2000 %5 2000 {[E H 2R e/ TR 2o/ D > 7 0hE A Wi {8 FlE 2017 2
Among the 2000 natural numbers from 1 to 2000, at least how many numbers have to be picked at
random so that there must be two numbers whose sum is 2017?

~ ZH5E ~
FHLEGPAHEE R - Gt BERET R F 2R - HERBE S EEGE 08 S0kt RS RN -
EFEADIRAFRTR - MEZIRA VAR o BREFAEEESN - IBRRES HAL - SEEREEALRA G TAEAI %L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,

decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.
Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



S ERE o
All answers should be written on the ANSWER SHEET.

~ End of Section B ~
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All answers should be written on the ANSWER SHEET.

(SR IRES= W)
Section C — each question carries 7 marks

17)

18)

19)

20)

KA 8 [RAR - J2A WIS © IBHEAS 6 RAR - 2 BN 1A 6 fhRAR - 1 Bl - A E =R A
27 & EFILARR 180 [FRA1ARS 25 ¥ - lH %/ D& ?

A spider has 8 legs but no wings; A dragonfly 6 legs and 2 pairs of wings; A Cicadas 6 legs and 1 pair of
wings. Now there are 27 insects of these three kinds. They have 180 legs and 25 pairs of wings in total.
How many cicadas are there?

AR 26 B - SREZEPRIA 91 ANEREHYE R AT REME -
If a number is divisible by 26, find the largest possible value of the remainder when that number is
divided by 91.

—EHEE Y 10 BYFEES] > R IHA L E—(E% - $SREGEGIHINEI T 111 - SKIAE
AR A AT (EZ A -

For an arithmetic sequence of more than 10 terms, each term is added by the same number. It ends up that
the sum of the arithmetic sequence is increased by 111. Find the sum of all possible values of the number
of terms.

20.1 B —2u4m 1 oROEHY/ ME T o S IREAR RESE IS TGRS 2017 > SKEEFA(E 127 _EJ5HY
TP -

Figure 20.1 shows some numbered squares. If squares are to be tiled up to 2017 following the pattern,
find the number in the square which is just above 127.

13 (12 | 11 | 10 | 25

14 | 3 2 9 | 24

15| 4 1 8 | 23

16 | 5 6 7 | 22

17 ({18 | 19 | 20 | 21

20.1
Figure 20.1

~ BET ~

~ End of Paper ~

FURMPAEREE - Bt RERET R FLERM > WHERBETBEIT 78 kTR RSN -

BEEAPRAFTR » MEZIRA AR RSP © BREAEERASN - RRIHE AL - SERAEALR A4S T 8L -

Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.

Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.



